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O=x&e| =2 ZEHISAHL=160m)
35,000,000 35,000
Osrgel o=tz IMNIIBAHL=240m)
50,000,000 50,000
03 Al 2CHYI 3,168 2,463 705
OARI2FRU=SAY AIE20HY]
440,000,000&*0.72% 3,168
HH2AZH(H=S) 1,560,904 1,485,486 75,418
-] 1,440,208 1,371,574 68,634
el 2| 1,440,208 1,371,574 68,634
101 @124H| 1,389,568 1,322,674 66,894
01 2= 1,389,568 1,322,674 66,8%4
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M gEedA|(Uee)
chel: ol (SHol: 12
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
oJl2s 984,004
OJlz=(¢sSH) 83,632
5= 83,632,000& 1 83,632
oJlzs(zsH) 900,372
623 (2632) 4,261,000& x7Z+12& 357,924
72(1622) 3,312,000 x6H + 12& 238,464
-82(788) 2,268,000 x5F 123 136,080
93(358) 1,749,000& «8F = 128 167,904
(OFS (GRS R,374
o¥z2se 900,372,000 *1/12x50%*23] 75,031
OFZ2+=Zoht3 11,520
-S04 10 0|8t 50,0003+ 12& 1,800
-10E0[ & 15E0(2t
60,0003 x2H 123 1,440
-1530(4F 20 0(8*
80,000 x4« 12& 3,840
2011014} 2510t
110,000 x1F + 122 1,320
-25E0| & 130,000& 2F 122 3,120
OUERA==E 5,823
S=UR 4,261,0002 *4, 1%+x2ZH « 12& 4,193
=0 3,312,000 #4 . 1%+ 1+ 123 1,630
ONAHBELY 12,720
OJEsY 12,720
i A 40,0003 108+ 12& 4,800
o PE 20,0003 x7H* 128 1,680
=M A 60,0002 3+ 12& 2,160
A0l = XA 100,000& »2% 12 2,400
-J|EHE 20,0003 +7H*12& 1,680
oOS*22+¢ 3,520
OS+g24e 3,520
D=38sY 4,440
‘672 30,0003 +«3F 123 1,080
82015t 20,0003 x5 12& 1,200
JIEFEYIS(0ISE,IIAL
30,0003 x5« 12& 1,800
I=H B2 (ADIAL
20,0003 x1H 123 240
JIEFESEIINS (2 EF)
10,0003 x 14+ 122 120
QIAHSY 50,0003 x4« 12& 2,400
-SHES2RE 70,0003 +26Z 12 21,840
-ME=XER+E 6,840




SN Liag
M #HZRAZHI(U=S)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EENEEEE:
70,0002 6~ 12 5,040
ARSI RSt
30,0002 x5 * 122 1,800
ozxu=22=g
11,1303 x26EH *30Al 2t 12 104,177
(©FSRU= Kl 140,000 <27 S+ 122 45,360
OE &=l 900,372,000 *1/12x60%+23] 90,038
O IIEAHI(HEHI)
83,632,000& *1/12+781+86%+1/30x 112 1,715
OS2 AHI(SSHI)
900,372, 0002 *1/12x86%*1/30% 11! 23,660
204 AP AH| 50,640 48,900 1,740
02 Mg 22| 50,640 48,900 1,740
OXZ 22| 50,640
Os53 250,000 x1& 128 3,000
O6= 165,000& x7 =123 13,860
org 165,000 x6& * 122 11,160
08 - 9= 145,000 « 13+ 123 22,620
=38l 120,696 113,912 6,784
Jl=23H| 120,696 113,912 6,784
201 er=2 3| 60,456 55,392 5,064
01 AtR2t2|HI 41,736 36,672 5,064
OJl2ge+=Fd(2rd, 68)
21,000,000 21,000
o=gHI(01=2Hl)
8,000 x27r H+8& * 122 20,736
2 s5=34l 18,720 18,720 0
oRERs 18,720
ogereH 4003*1,400S+122 6,720
OsJ|=# 2,500 x400S+ 122 12,000
202 04| 45,360 43,680 1,680
01 SLHoIH 45,360 43,680 1,680
O©J|=Z24l 140,000 x27 B+ 122 45,360
203 HR=AH] 12,480 12,440 40
01 V22 HRFA| 6,600 6,600 0
OJ|=ZHI(21738t0]2h) 6.,600,000& 6,600
02 3t R S| 1,080 1,040 40
OJIEAH(ZZ100ENKI) 40,0002 27 1,080
M EASHLRFAH 4,800 4,800 0
OJ =M (H230H0ldt) 400,000 <123 4,800
204 ARt AH| 2,400 2,400
01 SR 3| 2,400 2,400
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S Solel
M TUxAA
el ety = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=01 2,215,700 2,097,969 17,731
A 449,424 470,917 A21,493
e A 449,424 470,917 N21,493
AHHRFA 20,993 49,293 A\28,300
201 fer= 3| 19,793 18,793 1,000
01 At 2|l 12,340 11,540 800
ORIFHRFT(IIEZHI) 8,500,000& 8,500
oty S23A|
8,0003 x4 » 120 3,840
2 s5=34l 7,453 7,253 200
OOIZIAESEE Jtebl
3,0003+51 153
OHIY 332 ¥ MA(SESI) 5,100
ONAMS = 200,000 *1CH 200
OXtE R Al 4,300,000 = 1CH 4,300
OL=4==3 600,000 *1CH 600
O=X35Esxz 3323 ¥ MAI(HIIX) 2,200
OXIS XA 100,000 *1CH 100
OXtE Rl 1,500,000 *1CH 1,500
28g 600, 00081« 1CH 600
204 AR A 1,200 1,200
03 S3g =3l 1,200 1,200
ONSEE(d=E=R)
100,000 x1&* 122 1,200
ScletEE s 243,980 243,980
301 22N = 243,980 243,980
o7 8801 - 32243 243,980 243,980
(©lUESs-¢=ta] 238,680
oJl2+=¢ 300,000 x51H 122 183,600
OF={}=, 300,000 x51H*23] 30,600
O3l & +g
20,0002 *51H =23 122 24,480
ogta=g 25,0002 x106E *23] 5,300
MESZ EH 11,601 10,879 722
101 @124H| 9,618 9,174 444
M IIRIMZZENSES 9,618 9,174 444
OggAs o2y
83, 1503 1H 262 42 8,648
OgoAS 0IR PR JjBRHD 970
Oo=gig=z 8,648,000 4. 5% 390
(@Faki--ts 8,648,000 *3.495% 303
OFIIRAEE 303,000&*12.27% 38
O1nEEE 8,648,000 *1.75% 152
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M TUxAA
el ety = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4tiEe 8,648,000& * 1% 87
201 er23| 1,983 1,705 278
02 S3=gl 1,983 1,705 278
oI KX 400,000 1CH 400
ogas =&U
1,939 *1L*51J A+ 163 1,583
A2g2el 71,912 69,062 2,850
201 el 71,912 69,062 2,850
01 At2t2ltl 14,272 13,372 900
OBAIRA: Ro1HH|IEY=
224,000+ 122 2,688
Ot e =2
165,000& 122 1,980
OofisgN2cIEL= 200,000 * 122 2,400
OFAL 2HBANLHAUSE == 1,540
OFAL AZAE SSILEZUL =&
770,000 *12] 770
OFAL 22A4 ST Is833Ud ==
770,000 *12] 770
OsZ)| MBS =2
132,000& ~12& 1,584
Od=J| itz 35,0002 +50H~ 12 2,100
O3JIEE)| ditg
30,0002 *3CH* 12 1,080
OHIbGl Xtz 25,000 x3CH =122 900
02 S5=24g4l 57,640 55,690 1,950
oNIIR3 3,500,000& «12& 42,000
oY - ot=ke=s 300,000 * 122 3,600
(OFSE-I QPN =3=1 8,000 »20H =128 192
OZFEAL & FEAE HEH|
1,344 #40L* 105 5,645
OFEAL A= FAIHI 2,481&+2,500m 6,203
FOTRIME 2E K& 56,780 50,300 6.480
201 Ler=23 | 46,700 41,300 5,400
01 AtR2telHl 44,700 39,300 5,400
FUTXHH2SE (O1=3HI)
1,500,000 1,500
OFQITXZZ I LAl=E
30,0002 *8IH W & 18A[ 2t* 102 43,200
03 A= &I 2,000 2,000 0
O=2UXNXZ2 1 &H3| 2 MAIZ =H]
2,000,000& 2,000
301 EtE N = 10,080 9,000 1,080
11 #AIAMHIXIZ S 10,080 9,000 1,080
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el ety = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFRIRAART EH 42
30,0002 +28H 122 10,080
NS etetE st ALK 4,824 4,824
301 EtE2 NS 4,824 4,824
11 #AIAHIXIZ = 4,824 4,824
O SAIFN U248 4,824,000& 4,824
HEAE 2E20c 7,214 8,240 1,026
201 2= 7,214 7,040 174
01 At22t2lt] 1,100 1,100 0
OU=HMST2 ATAE 2 1,100
OABAIL ZBRUBANY 242
550,000& 12 550
OAYNE HSISTHANY +48
550,000 12 550
2 Ss2g4l 6,114 5,940 174
ott=HH=s2 2l 2,812
Odotee=s 50,000 * 122 600
ONSE 22 KXB2Y
2,48134+801.27m 2,212
O=0H0IEEE 2l 3,302
o&lIe=s 200,000 * 122 2,400
Odotee=s 10,0002« 12 120
OAOIEEE 2d= A2l
1,304244519.86m 678
O=015728 Ruz2
2033 x509m’ 104
sul MsAIE 2l 11,160 13,890 A2,730
401 Al HIZL 201 11,160 13,890 A2,730
01 Al&H| 11,160 13,890 N2,730
O0tel 2371+ FAl 2|
30,0003 *172H 5,160
o2l 25717 £32A
3,000,000 *1H 3,000
OtDIel 23717 EXISBA
3,000,000 *1H 3,000
C=sXgaz2d2el 20,960 20,449 511
201 er23 | 20,960 20,449 511
01 At2teltl 6,204 5,784 420
Olt=Hzl2 Lo 89
165,000& * 12 1,980
OCI2X3|2 MI|QHEBRIHY 242
80,000& * 122 960
ott=Hzl2 52| MHESUd =2
132,000& «12& 1,584
Od=J| itz 35,0003 #4CH* 12 1,680
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PSES: BN ON
olyg

chelr et = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 14,756 14,665 91
ott=sHal2 &JIes
1,000,000& * 12& 12,000
OU=Ha2 dotr-ERs
100,000 ~12& 1,200
OUt=H3|2 HIAER
10,0002 <20« 12 240
ott=Hzl2 A=2 XA
1,329 %990m’ 1,316
NP 564,830 478,308 86,522
KIS AL 564,830 478,308 86,522
MEFHARDFUSIIALY 90,000 90,000 0
401 Al HIZL 201 90,000 90,000 0
01 Al&H| 90,000 90,000 0
OMEFHANDFZT|AlRS
90,000,000& 90,000
FHEEYH 2L GMY 3,460 2,550 910
206 MH=H| 3,460 2,550 910
01 M=4l 3,460 2,550 910
OZZ XA =4I 3,460
OZUR & 212 3,500 +860= 3,010
OHIZ(AE) 15,0003 *30% 450
A E2F0=FAY 471,370 385,758 85,612
401 Al HIZ 2018 471,370 385,758 85,612
01 Al&H| 468,000 383,000 85,000
O=g2e! 0222 FHISAHL=160m)
20,000,000 20,000
08 22| OtA2 M LIS AHL=80m)
10,000,000& 10,000
O3taHe] =2 HHI3 AHL=50m)
13,000,000 13,000
O=Reie] 568X L sZEEFSAHL=180m)
46,000,000 46,000
O 212l OtAZ IH RIS AHL=240m)
22,000,000 22,000
oA 422l =2 =IHSAHL=80m)
36,000,000& 36,000
O=oie| 236X L S2EFSAHL=110m)
24,000,000 24,000
O&F2e| OtAZ IM RIS AHL=400m)
30,000,000 30,000
O3teHel otAE XIS AHL=110m)
12,000,000 12,000

12,000,000 12,000
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M XSoHe
s XISIHE A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O30H22| AreEHISAHL=30m)
22,000,000& 22,000
O&ltH2e| OtAE M RIS AHL=330m)
25,000,000% 25,000
OE41el ot=22 FHISAHL=25m)
13,000,000 13,000
otigc!| B LA =2 FHIZAHL=30m)
20,000,000& 20,000
O=t12l =2 FHISAHL=220m)
33,000,000 33,000
OWz=2e| OtAZ IMRI| SAHL=400m)
20,000,000 20,000
OSAcl M78 X L& =2 FHIZAHL=110m)
10,000,000 10,000
OZLel =2 HHISAHL=80m)
20,000,000& 20,000
oF22e| =2 HHIZAHL=50m)
20,000,000 20,000
oM<l =2 FHBI3AHL=60m)
40,000,000& 40,000
o 22| sZEEHZAHL=0m)
20,000,000& 20,000
03 Al 20HHI 3,370 2,758 612
OAAR Fe=FAAE AIE20UH
468,000,000&%0.72% 3,370
HH2AZHI(S01H) 1,201,446 1,148,744 52,702
el 2E| 1,107,8%4 1,065,176 42,678
el E2d| 1,107,8%4 1,065,176 42,678
101 ©1AH| 1,069,334 1,028,936 40,398
01 2= 1,069,334 1,028,936 40,398
oJlzs 768,340
o232 (HSH) 83,632
5= 83,632,000& *1H 83,632
OJl==(zSH) 684,708
-63(2623) 4,261,000 «5F « 122 255,660
-7=2(1683) 3,312,000 «7E*12& 278,208
-82(7183) 2,268,000& ~4H 122 108,864
-9=2(3s8) 1,749,000 =2 * 122 41,976
(OF= GRS 71,932
Oliesa+d 4,193
Ssl< 4,261,000& #4 . 19%+x2E 12 4,193
odg2=+¢ 684,708,000 *1/12x50%+23] 57,059
Od2=gitita 10,320
5014 10012t 50,0002 x4 x 122 2,400
-100l& 15=0]et
60,0002 1 * 122 720




SA: 20|10
M ESHA|(S0/H)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-15E0l14f 202018t
80,0002 x5~ 12 4,800
20014 100,000 x2&* 122 2,400
O824 Fibrt= 360
-25E01 & 30,0002 x1& * 122 360
OIH28 =g 9,120
OJE=g 9,120
-t 40,0002 x11&~ 128 5,280
—JIEDHE 20,0002 x16E 128 3,840
OS+22+g 27,720
OS¢ 27,720
JlsdE=+g 7,200
- 55 50,0003 1 * 128 600
62 - 7= 30,0002 68 122 1,800
- 8=0lat 20,0002 x4~ 122 960
- JEEESY RISOISE - JIAY
30,0002 x10H =122 3,600
JEEERY RIS (2HE)
20,0002 x1& x 122 240
-SAfg 20,520
QR 50,0002 x1& 123 600
seis2e4y
70,0002 x18H* 122 15,120
AR =X B2
70,0003 x4 * 122 3,360
- N SRR JHats
30,0002 x4 x 12 1,440
(OESN t=t ]
11,1302 x 182 +30AI 2+ 123 72,123
OdHgAHI 140,000 x19E « 128 31,920
OYEZIMI(ZSH)
684,708,000& *1/12x60%+23] 68,471
O IIZ &I (HEH!)
83,632,000& *1/12+781+86%+1/30x 112 1,715
OS2 A (S SHI)
684,708,0002 *1/12+86%+1/30% 11& 17,993
204 ARt AH| 38,520 36,240 2,280
02 M=a2xH| 38,520 36,240 2,280
(OFS= LB 38,520
O5= 250,0002 18+ 128 3,000
O6= 175,000 x5+ 122 10,500
ora 165,000& x7 &+ 123 13,860
08z - 9= 165,000 x6& * 122 11,160
=34 93,592 83,568 10,024
Jl=23H] 93,592 83,568 10,024
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ZE: YH2AAH|(20/2)
Chel: J1=2 &l EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
201 Let2| 41,512 38,288 3,224
01 Al2 2218 30,59 07,368 3,204
OIl=Pas Y| (192, 58)
16,000,000 16,000
osgHI(01E23H!)
8,0003x19Z 8L+ 12& 14,592
02 2324l 10,920 10,920 0
oRHRza 10,920
oggreH 4002 +1,65024* 12 7,920
osJ|e# 2,500& 10024+ 123 3,000
202 04d| 31,920 31,920
01 =LHO4 L] 31,920 31,920
ool (O1=ghl) 140,000& x19¥ + 122 31,920
203 LR =&H| 10,960 10,960
01 J| 22 RS 6,600 6,600
©J|Z=H(32t012tH) 6,600,000& 6,600
02 ZRAINHAS =AY 760 760 0
QJlEN 40,0002 19 760
M FA2LHRFAHI 3,600 3,600 0
O©JIEAH(2021018t) 300,0002 123 3,600
204 MNP AH| 2,400 2,400
01 g 2,400 2,400
OJIEAU(5SII2E)
150,000& 1E + 122 1,800
OIIEH(6ZTETIH)
50,0003 x 1« 12& 600
405 XHAHE SHI 6,800 6,800
01 IR =SFSHI 6,800 6,800
OAMRE 2XHASL) 300, 0002 x21H 6,300
OAMRE 2AXHZ2IXL) 500,000& *1H 500
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Mu: Z=0Iao| I EHAl
el orSt2 Olexd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AS 994,263 945,825 48,438
=0yl & et 229,110 236,334 NT,224
OISt Ot=X4 229,110 236,334 NT,224
Fdg X 160,273 167,982 AT,709
201 fer= 3| 18,409 22,282 A3,873
01 At 2|l 10,400 14,297 23,897
CUETEESICIEETI
10,400,000 10,400
2 35244l 8,009 7,985 24
OgIA=I| =l 478
ORAXHl 4,220,000 *8% 338
O==U 1,939& %3 +243] 140
03323 % MAI(EEX) 5,150
ONAMS U= 50,0002 «1CH 50
OXtere | 4,300,000 *1CH 4,300
Ok=4==3 800,000 *1CH 800
03323 % MA(&EIIX) 2,300
OMAZ =2 100,000 «1CH 100
OXterd 2| 1,500,000 = 1CH 1,500
OL===3 700,000 *1CH 700
OSH LAZSEE= 3,0008+27H 81
301 EtE NS 141,864 141,960 VNS §
o7 8801 - 32243 132,660 132,660 0
osg=g 126,360
OoJl2+=g 300,000& x27 E+12& 97,200
O&0iZ 300, 0002127 %25 16,200
O3 F¥A g
20,0002 x27 H*12E +23] 12,960
ogta=g 25,0002 * 126 <22 6,300
11 dAMEEIXIZE S 5,784 5,880 VaN®§
O3S AT U2 5,784,000& 5,784
14 IIEt2 83 3,420 3,420 0
OXESYASAA 24| 3,420,000& 3,420
SAtEtE e 19,257 18,847 410
201 ger= 3| 19,257 18,847 410
01 At 2|l 9,888 9,6% 192
ORCIEABH 9= 146,000~ 128 1,752
ould SIFFI| gxg
45,0003 x20H =123 1,080
Od=J| itz 25,0002 «3CH* 12 900
oIt Xtz 14,0003 =801~ 123 1,344
OFA &= 100,000& * 122 1,200
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3 Qg0 ¥ gy
tel: OS2 OSx4d EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
orger X D
200,000 %13 200
OsZoIetd 2| i S|
22,0002 13| 22
OAAIL QIHF (ha4aE
135,000« 12& 1,620
OB orEFEALLE
150,0002 %12 150
OFI|HBY| (AT
135,000~ 128 1,620
2 S22l 9,369 9,151 218
OASERN 242 (200/5H)
3,861&+1,293m 4,993
OAEEHIS Xl 2,000,000& 2,000
o5l RAExFZE 198,000& * 12 2,376
FUNXIHE 24 49,580 49,505 75
201 fet=3| 39,500 39,425 75
01 At 22|l 37,500 37,425 75
O=2XXIHEH 2L (OIEZHI)
1,500,000 1,500
O=QNXEZZ2I8 LA+
25,0002 «8H W & x18A1 2H+ 102 36,000
03 A2 I 2,000 2,000 0
OFQNAZZ 08 2HI X HAlel &8I
2,000,000& 2,000
301 22N = 10,080 10,080
11 AALEIXIES 10,080 10,080
ORI &2
30,000 »28H « 128 10,080
HH2AGH(RLS) 765,153 709,491 55,662
el 2E| 692,601 639,99 52,602
el E2d| 692,601 639,999 52,602
101 ©1AH| 666,321 616,899 49,422
01 2= 666,321 616,899 49,422
oJlzs 482,116
O3 (HSH) 83,632
5= 83,632,000& *1H 83,632
OJl==(zSH) 398,484
62 4,261,000 «3F 122 153,396
-2 3,312,000 «2E 12 79,488
8= 2,268,0002 =32 *12& 81,648
= 1,749,000 x4 x 122 83,952
(OF= GRS 38,967
o832+ 308,484, 0002 »1/12x50%22] 33,207
Od2=gitit= 5,760
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chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-250] & 130,000 x 1 » 122 1,560
-2040l4f 25 0]2t
110,000 x1&* 122 1,320
~15101 4 2014018¢
80,0002 x1& x 122 960
~10L014¢ 15018
60,0002 x 1 » 12 720
-5H0(& 1020/ 50,0002 x2& 122 1,200
OJAHEd==E 6,000
OJ&E=g 6,000
BN} 40,0002 x5 * 122 2,400
LU PE 20,0002 +3&* 12 720
—= M At 60,0002 x2& =122 1,440
-JIEDHE 20,0002 +6E 122 1,440
OS+22+g 17,280
ourgesg 50,0002 x2& * 122 1,200
Os22+E 70,0003~ 122+ 12& 10,080
OAtl =X R+
70,0002 %58 122 4,200
OAtI=XIE R Jtats
30,00021%5% 122 1,800
CEEE RN
11,1303+ 122 *30A[ 2+ 123 48,082
OZNASAHI 140,000 x13E « 122 21,840
OEEFItl 398,484,000 1/ 12+60%*22] 39,849
Ot 4] 12,187
O SHl
83,632,000 *1/12+78+86%+1/30+ 112 1,715
OsSHl
308,484,0002 *1/12+86%%1/30% 11&4 10,472
204 ARt AH 26,280 23,100 3,180
02 H=a2xH] 26,280 23,100 3,180
(OFS= LB 26,280
053 250,000 «1H* 123 3,000
O6= 175,00024x3&* 122 6,300
ora 165,000& x2&~ 123 3,960
O8=-93 155,000 x7 =123 13,020
=3l 72,552 69,492 3,060
Jl=3H] 72,552 69,492 3,060
201 er23| 44,032 42,212 1,820
01 At2teltl 19,984 16,964 3,020
QJ1=2dP+AHI(13Y,28
10,000,000 10,000
OSEHI(OI=3HI)
8,000« 13+ * 12 9,984
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M HZRAZH|(RKLS)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 24,048 25,248 1,200
oRER=s 4,850
ogegt 4003 +4,000S 1,600
OSJI 2,5002+1,3005 3,250
(OFSPIEeE=) 1,300,000& «12& 15,600
Odote=Er= 250,000 122 3,000
odse=s 7,000~ 1CH* 12 84
OAoIETVtE 22,0002 «1tH= 122 264
OuERYs 250,0002 %12 250
202 04| 15,600 14,400 1,200
01 =LHO LI 15,600 14,400 1,200
OO0t (D1=&24I) 100,000 x13E «12& 15,600
203 HR=H| 10,120 10,080 40
01 D[22 HRFa| 6,600 6,600 0
OJ|ZH(l3et0let) 6.,600,000& 6,600
02 3t R F&| 520 480 40
OJ =N (H2100HNHAI) 40,0002 13 520
M EASHLRFAH 3,000 3,000 0
OJ|I=H(H&1521015t) 250,000 * 122 3,000
204 ARt AH| 1,800 1,800
01 MG HI-HHH] 1,800 1,800
QIEA(GSI12E)
150,000 x 12 * 12 1,800
405 KHoHFSHI 1,000 1,000
01 MM ESFSHI 1,000 1,000
OZcizelH 1,000,000 *1CH 1,000




FAUE1S
3 Qg0 ¥ gy
tel: OS2 OSx4d EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
W=1s 893,623 877,690 16,933
FRlatel & e 208,475 199,794 8,681
OISt Ot=X4 208,475 199,794 8,681
Fdg X 119,035 118,761 274
201 fer= 3| 18,285 18,061 224
01 At 2|l 10,700 10,200 500
CUETEESICIEETI
10,700,000 10,700
2 35244l 7,585 7,861 N276
OgIA=I| =l 478
ORAXHl 4,220,000 *8% 338
O==U 1,939& %3 +243] 140
03323 % MAI(EEX) 5,050
ONAMS U= 50,0002 «1CH 50
OXtere | 4,300,000 *1CH 4,300
Ok=4==3 700,000 *1CH 700
03323 % MA(&EIIX) 2,000
OMAZ =2 100,000 «1CH 100
OXterd 2| 1,500,000 = 1CH 1,500
OL===3 400,000 *1CH 400
OSH tHESEE= 3,000 %19 57
301 EtE NS 100,750 100,700 50
o7 8801 - 32243 93,370 93,320 50
os&d=+¢ 88,920
OoJl2+=g 300,000 x19E «12& 68,400
=1}, 300, 0002 * 19 <23 11,400
O3 F¥A g
20,0002 x 192 *12E +23] 9,120
ogta=g 25,0002 x89H *23] 4,450
11 dAMEEIXIZE S 3,960 3,960 0
O3S AT U2 3,960,000& 3,960
14 IIEt2 83 3,420 3,420 0
OXESYASAA 24| 3,420,000& 3,420
SAtEtE e 25,860 17,528 8,332
201 ger= 3| 18,260 17,528 732
01 At 2|l 8,802 8,192 610
ORCIEABH 9= 110,000« 128 1,320
ould SIFFI| gxg
45,0003 x20H =123 1,080
o8| Yit= 40,0002 *3CH* 12 1,440
oBltl 2HUM & |X2=>
50,0003 »12CH+*22] 1,200
OFMN A= 100,000& * 122 1,200




FAUE1S
Ma: Z=0iyo| A EHAl
tel: olst2 0ISxs EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
osYIlerE R B
22,0002 %13 2
OAgtE 2R Xt wFH|
200,000& %12 200
OBYI BIBM 48
140,000 %12 140
OAgHHEH === 500,000& x22] 1,000
OmI|HBY| (fHASE
100,000& * 122 1,200
02 S3=gHl 9,458 9,33%6 122
OA&EHIS X 2,000,000& 2,000
CHEEEWERSICVERY
3,861&*1,297m 5,008
Osd)|l RAEs8 200,000 x 122 2,400
Osgt=Ag Nl 50,0002 *12] 50
401 Al HIZ R0 4,500 4,500
01 Al&HI 4,500 4,500
OMEtaa L AFRIA S0
4,500,000 4,500
405 AHaHE = 3,100 3,100
01 ML ESF SHI 3,100 3,100
OMEHed #2220
1,700,000 *1CH 1,700
OM=Eted IS A
1,400,000 1CH 1,400
FUXRME 29 63,580 63,505 75
201 Ler23 | 53,500 53,425 75
01 At2t2lt] 51,500 51,425 75
ORI HEH2H (OIEZH])
1,500,000& 1,500
O=QNXEZZI ZAl=+H
25,0003 1074 w & x18AI 2t 103 45,000
octeliANA S FX=
500,000& *10E 5,000
03 A= &I 2,000 2,000 0
O=UXNXZ2 1 &H3| 2 MAIZ =H]
2,000,000& 2,000
301 EtE N = 10,080 10,080
11 #AIAHIXIZ S 10,080 10,080
O=F2UXXIAHE Aul2d
30,0002 x28H 122 10,080
Y2 AL (LHE1S) 685,148 677,8% 7,252
el 2| 616,198 613,132 3.066
el 2dd| 616,198 613,132 3.066
101 @124H| 533,638 591,772 1,866
01 &2 593,638 591,772 1,866




D uEts
D HERIAL(UWE1S)

[

=)

eada]

[0

RN - I BRA(E) - HRA - BES of v A
oJlZ2= 433,912
OJ122(HSH) 83,632
5= 83,632,000& 1 83,632
OJ12g(&SH) 350,280
= 4,261,000 «3E 12 163,3%
-2 3,312,000 «2F 122 79,483
8= 2,268,000 «2F ~ 122 54,432
= 1,749,000 x3E ~ 128 62,964
od0=g 34,950
ogz2+¢ 350,280, 000 *1/12x50%*23] 29,190
Oda+=gitit= 5,760
2014014 25018t
110,000& x2&+ 123 2,640
-150l&f 20018t
80,0002 x2&~12& 1,920
5014 10E 02t 50,0002 =2« 122 1,200
OIH2d ¢ 6,240
OIEsg 6,240
BN} 40,0002 62~ 123 2,880
LU PE 20,0002 +6E ~ 122 1,440
S MAH 60,0002 x2& * 122 1,440
-JIEDHE 20,0008 x2S x 122 480
O ] 14,040
ORlgge=g 50,000 =2 * 122 1,200
Oos28+¢ 70,0002 x10E ~12& 8,400
ONEENEEES
70,0008 x4 x 122 3,360
OARI SRR b=
30,000 x3&* 122 1,080
OESN =R =]
11,1302 x 102 +30AI 2+ 123 40,068
OZA=AHI 140,000« 11H =122 18,480
OFEEFItHI 350,280,000 1/ 12+60%*22] 35,028
Ot 4] 10,920
O sSH
83,632,000 * 1/ 12%78%+*86%*1/30% 11! 1,715
OsSH
350,280,000 *1/12%86%=1/30+ 11 9,205
204 MR AH| 22,560
02 a2 x| 22,560
(OFS= LB 22,560
053 250,000& x1E~12& 3,000
Ob= 175,00024x3&* 122 6,300
Ors 165,000 x2& * 12 3,960




S UES
M WHS AR (HL1S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| ©s292 155, 0002584~ 128 9,300
Jl= 2| 68,950 64,764 4,186
o=z 68,950 64,764 4,186
201 et elt| 40,110 38,224 1,886
01 AlR2F2IH| 17,448 15,842 1,606
OJ12YAR A (112
9,000, 0002 9,000
CEELCIGIE=LIN
8,000 112 +82 128 8,448
2 2224 22,662 22,382 280
ofERa 3.620
oYyt 4002 +2,8005 1,120
02 2,5002*1,0005 2,500
0xII23 1,400,002 122 16,800
oM +E23 40,0002 128 1,680
0N 6,000 * 1L} 122 72
CEEWESNE 20,000 *1CH* 122 240
onsRYR3 250,0008*13] 250
202 01t 13,200 13,200
01 RLHOIH] 13,200 13,200
OO0HI(O1EAHI) 100,00081%112* 128 13,200
203 A2 FAIb| 10,040 10,040
BEEEEEESSE] 6,600 6,600
©JF (21 730+0] 2 6,600, 0002 6,600
(2 BRIIMYRETIY| 440 440 0
CRIERICER V=PI 40,00024%112 440
o RAEIARETY] 3,000 3,000 0
OJIEH(H@ 15210131 20,0002 122 3,000
204 K248 AY| 1,800 1,800
01 AT AY| 1,800 1,800
OJIEH (521 27)
150,000+ 12+ 128 1,800
405 TS| 3,800 1,500 2,300
01 TA L SZ 5 SH| 3,800 1,500 2,300
01| 2,300,002 1CH 2,300
OM=&B)| 1,000,000 1CH 1,000
OAIRE QAXH2IX 500,000 +17H 500
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2A:

LiZ2s

M HY2AAH|(LHE2S)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-6= 4,261,0002+3H 122 153,3%
1= 3,312,000 2122 79,488
8= 2,268,000& x2F + 122 54,432
=2 1,749,000&«3Z 123 62,964
OF{uE= 38,190
o3z 350,280,000 *1/12x50%*23] 29,190
OFZ+=ZIt3 9,000
25101 4 130,000+ 12+ 122 1,560
202014 25 0/2¢
110,000& *1Hx 122 1,320
-15=0(4F 20 0(8*
80,0003 x 1+ 12& 960
-10E0/&F 155018t
60,0003 «3F 123 2,160
-5 04 10 0] 8t 50,000& x5F *12& 3,000
OQItHENEY 6,240
OE=e 6,240
- <kt 40,0003 «6Z =12 2,880
) PNIE 20,0003 x2F 123 480
-SMXHA 60,0003 *2H 123 1,440
ol PE 100,000 x1H 123 1,200
-J|EFE 20,0003 x 18« 128 240
O=E+22Y 15,600
Oolag+g 50,0003 x2H 123 1,200
Oos28+Y 70,0003 108+ 12& 8,400
OAMzl=XgRsY
70,0003 x5« 123 4,200
OAM2A=XLR Jtet=
30,0003 x5 =123 1,800
ox=2Rg
11,1302 * 10 *30Al 2+ + 12 40,068
OFAHZ A 140,000 x 11+ 122 18,480
OZE St 350,280,000 *1/12+60%*23] 35,028
O™ I 2 AHH| 10,920
OdEH
83,632,000 * 1/12%78%*86%+1/30% 11 1,715
Oz
350,280,000 *1/12%86%+1/30% 11 9,205
204 KA A 22,560 21,360 1,200
2 MZ2E2x| 22,560 21,360 1,200
OXZEXH| 22,560
Ob= 250,000 x 15+ 123 3,000
OL= 175,000& x3H 123 6,300
ors 165,000 x2H 122 3,960




SN LHE2S
M #ZYRAZHI(LHE2S)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| ©s292 155, 0002584~ 128 9,300
Jl=3H| 69,616 65,270 4,346
Jl=23H] 69,616 65,270 4,346
201 er23y| 42,076 40,230 1,846
01 AtR2t2|HI 17,448 15,842 1,606
OJ1=2L2+aAFHI(11Y,25)
9,000,000& 9,000
ozgt(01E2dl)
8,000« 1182 * 122 8,448
2 s5=g4l 24,628 24,388 240
oR#ERs 5,850
oget 40031+4,000S 1,600
o=y 2,500&+1,7005 4,250
oNIIR3 1,200,000& «12& 14,400
Odotr=e= 300,000& * 122 3,600
(OFSK13eA=) 7,000~ 1CH* 122 84
OAoI=ETVtlE 37,0002 1CH* 122 444
OusS=&Rg=s 250,0002 %12 250
202 04| 13,200 13,200
01 2LHoIH 13,200 13,200
OoHI(O1EZ2YI) 100,000 x11E«12& 13,200
203 HR=AH] 10,040 10,040
01 D[22 HRFa| 6,600 6,600
OJ|ZH(13et0]2t) 6.,600,000& 6,600
02 FAIHAHH R S| 440 440 0
OJIEAH(ZZ100ENKXI) 40,0002 11 440
M FA2SLRFEI 3,000 3,000 0
OJ =M (H&1521015t) 250,000 * 122 3,000
204 ARt AH 1,800 1,800
01 AMGHR A A 1,800 1,800
QIEA(GSI12E)
150,000 x 12 * 12 1,800
405 KHoHFSHI 2,500 2,500
01 ML ESFSHI 2,500 2,500
LES 1,500,000 *1CH 1,500
O2AMNIEDI 1,000,000 *1H 1,000
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TN SEMES
3 Qg0 ¥ gy
tel: OS2 OSx4d EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&d=J| itz 40,000 *4CH* 122 1,920
odltl & 22,0002 *14CH*13] 308
O3 34 350,000 %12 350
OFAN A= 150,000& * 122 1,800
OAgotd e Xt =]
200,000& *12] 200
OsIItEHSE
130,000& %12 130
OosZlletd e =t
22,0002 %12 2
OALOIEHAYB22E
250,000 122 3,000
OHIIATEHAL B S+
150,000& 122 1,800
02 s3=gHl 8,071 5,747 2,324
OA&EHIS X 2,000,000& 2,000
CHEEEWERSIGERIY
2,481&+1,963m 4,871
Osd)|l RAEs8 100,000& * 12 1,200
401 Al HIYL S CHYI 1,200 1,200
01 AlZ2H| 1,200 1,200
OXlotal AlE JHA 1,200,000& 1,200
TR 2 67,880 67,790 0
201 223 57,800 57,710 0
01 AtR2t2lt] 55,800 55,710 0
OFLUXXIHEH2H (OIE3H])
1,800,000 1,800
O=QNXZZI LAl=+E
25,0003 124 w A% 18AI 2t 103 54,000
03 A= 2,000 2,000 0
O=0NAZZ N8 2HI X HAlel =4I
2,000,000& 2,000
301 LELE NS 10,080 10,080
11 dALEEIXIZE S 10,080 10,080
OF2 XA &2
30,0003 »28H « 128 10,080
HH2LIH(ESAES) 1,223,241 1,157,391 65,850
el 23 1,113,845 1,063,569 60,276
eIg =3 1,113,845 1,063,569 60,276
101 e124d| 1,070,345 1,014,329 56,016
01 2= 1,070,345 1,014,329 56,016
oJlzs 757,348
OJl==(HESH) 83,632
53 83,632, 000!+ 8,600
OJI2g(&SH) 673,716




A SEMNES
i AHHMPHAHI(SHAES)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 4,261,000 ~4F 122 204,528
= 3,312,000 «4H 122 158,976
8= 2,268,000 «6F ~ 122 163,296
= 1,749,000 x7 &+ 12& 146,916
odo=g 64,183
ogz2+¢ 673,716,000 * 1/ 12x50%*23] 56,143
Oda+gitits 8,040
-15E0/ 4 20012t
80,000 x4 * 122 3,840
-5E0[& 10208t 50,000 7 * 122 4,200
OIHEH=E 8,880
OJtE=g 8,880
SN 40,0002 8+ 123 3,840
LU PE 20,0003 x4 * 122 960
—=M XA 60,0002 3 * 12 2,160
-JIEDHS 20,0003 8~ 128 1,920
OS==2f=¢ 32,040
ORlggeg 50,0002 8~ 123 4,800
Oos28+E 70,0003 218128 17,640
OAt2l =g R+E
70,0002 +x8& * 12 6,720
OAlZISAIE R Jhts
30,0002 462 122 2,880
CE RN
11,1303 x21H*30Al 2t 12 84,143
OZA=AHI 140,000 x22F « 122 36,960
OgZ =l 673,716,000 * 1/ 12+60%*23] 67,372
O ItE 2| 19,419
@)L=
83,632,000 * 1/ 12x78%+*86%*1/30% 11! 1,715
Oz =H
673,716,000& *1/12+86%+1/30% 11& 17,704
204 MR AH| 43,500 39,240 4,260
02 252 x| 43,500 39,240 4,260
(OFSF= N | 43,500
O53 250,000& x1H 128 3,000
O6= 175,000& x4« 123 8,400
Ors 165,000& x4« 123 7,920
O8=-9= 155,000 x13F « 122 24,180
=&l 109,3% 103,822 5,574
Jl=&H| 109,3% 103,822 5,574
201 ZEet23 ] 68,216 63,882 4,34
01 AtR2telbl 32,3% 28,062 4,334




SN BYANHE
i AHHMPHAHI(SHAES)
cHel: = CERE)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OJl=g R+ (229 ,38)
15,500,000 15,500
CEELIPIES=1))
8,000&x22H 82«12 16,8%6
02 S3=2g4l 35,820 35,820 0
oORER=S 15,250
Ooget 4003 10,000 4,000
oS3l 2, 5001%4, 5008 11,250
oNMIIR3 1,400,000 « 122 16,800
(OFSIEIReE=) 7,000 =201 =122 168
Oyot=ER= 250,000 123 3,000
OunsSmeRg=s 350,000 %13 350
OAHOISTVElZ 21,0003 x1CH=128 252
202 044l 26,400 25,200 1,200
01 =LHOLI 26,400 25,200 1,200
OOl (D1E&HI) 100,000 x22E « 128 26,400
203 SR =L 12,980 12,940 40
01 J1 228 RF8H| 7,900 7,900 0
O©JIE (7580 8t) 7,900,000 7,900
02 H3OtaHA R F&| 880 840 40
OJIEH (2 100ENAI) 40,0008 x22H 880
04 EXA2EYERFAH 4,200 4,200 0
OJIEA(F@25e10l5t) 350,000& * 128 4,200
204 2P AFH| 1,800 1,800
01 MR F| 1,800 1,800
OJIZEH (5271 2E)
150,000& x1H 122 1,800
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2N QORE
B oigto] A gl
tel: OS2 OSx4d EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAgHEEd Y=
500,000& 12 500
OMBAZSOWBR|O DR42+E
45,000 45
02 s3=gHl 5,821 5,728 3
OA&EHIs X 2,000,000 2,000
OA=ZERX2+2(30H0l0t)
5,020 +761m 3,821
FUNXIHE 24 48,500 57,425 A\8,925
201 eer23y| 39,500 48,425 N\8B,925
01 At 22|l 37,500 46,425 A8,925
OFRXXIHEHZE (I1EZH])
1,500,000 1,500
OFQITAZZ I LAl=E
25,0002 +8IH W &+ 18A[ 2t+ 102 36,000
03 A2 Y] 2,000 2,000 0
O=2UXNXZ2 ) &H3| & MAIZ =HI
2,000,000 2,000
301 EetE2 N = 9,000 9,000
11 #AIAHIXIE = 9,000 9,000
O=2UXXI?EE AH2d
30,0002 x25H 122 9,000
2ES SAHEHE 292 16,403 25,366 8,963
201 el 16,403 18,751 A2,348
01 At2t2ltl 6,080 4,260 1,820
O=SAAHEHE RAMTEH ES=
150,000& * 12 1,800
OSXNEHE ALOHEY (442
150,000& 122 1,800
O=STHEHE I X2
30,0002~ 12& 360
O=SAAHEHE &jetd2e] W=
110,000& * 122 1,320
OAYHH 2R X} NFF+2
200,000 200
O=FZ Xty et 600,000 600
2 S5=24g4l 10,323 14,491 N\4,168
OSXHEHE M=
700,000 * 122 8,400
OSXHEHE &ot+=R=s
50,0002 123 600
OA=SRXE+=2(5H015})
1,3202x995m’ 1,323
HY2HAH(L2EE) 881,936 865,485 26,451
elIE =g 812,906 790,155 22,751
olE =gl 812,906 790,155 22,751




2N QORE
M HRSHAY|(QDEE)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 782,666 761,59 21,071
01 &= 782,666 761,595 21,071
oJlZz=s 560,464
OJl==(HESH) 83,632
52 83,632,000& *1& 83,632
OJI28(&SH) 476,832
6= 4,261,000& ~4H 122 204,528
= 3,312,000 2H* 123 79,483
-82 2,268,000 «4H 122 108,864
92 1,749,000 x4H 12 83,952
(OGRS, 48,256
og2=+¢ 476,832,000 *1/12x50%+23] 39,736
Od2=gitita 8,520
25801 & 130,000& x 12+ 123 1,560
-204014f 26=0]8t
10,0003 x 1= 123 1,320
-164014f 20=20]2t
80,0008 x2& » 12 1,920
-10=0la 1508
60,0002 x1& » 122 720
-5E0[& 10208t 50,000 x5& * 122 3,000
OIH28 =g 9,120
OJE+E 9,120
- <Xt 40,0002 x8&* 12 3,840
L PE 20,0003 x5 * 122 1,200
a=LUPE 60,0002 3 * 122 2,160
-JIERHE 20,0002+~ 12 1,920
O ] 21,600
oulages¢ 50,0008 x2& * 12 1,200
Os22+E 70,0002 x14E 128 11,760
OAtzl=Xg ¢
70,0002 +6E * 12 5,040
OAtISAIg S Jtits
30,0002 x6& * 122 2,160
OJled=2=8 30,0002 x2& =122 720
OJI=2EE+E I3 0ISE - JIAY
30,000 =2 * 122 720
(OESN) se i s
11,1303+ 14 *30A[ 2+ 123 56,096
OFMUSAHI 140,000 x15F « 128 25,200
OEZE=FIH| 476,832,000 x 1/ 12+60%+22] 47,684
OS2 &l 14,246
O SHl
83,632,000 *1/12x781+86%+1/30+ 112 1,715




2N QORE
M HRSHAY|(QDEE)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Oz =H
476,832,000 *1/12+86%1/30+ 11 12,531
204 MR AH| 30,240 28,560 1,680
02 222 x| 30,240 28,560 1,680
(OFSF= N 30,240
Os55 250,000& x1H 128 3,000
O6= 175,000& x4 H 122 8,400
Ors 165,000& =2« 12& 3,960
O8=-9= 155,000 x8&* 122 14,880
=&l 69,030 65,330 3,700
Jl=&H| 69,030 65,330 3,700
201 =3 39,030 35,330 3,700
01 AFS2t2ltl 22,520 20,330 2,190
OJl2gR+=8ZH| (159 ,28)
11,000,000 11,000
ozgt(01E2dl)
8,000&x15ZF 8L« 122 11,520
02 2324l 16,510 15,000 1,510
ORER=S 6,250
oggt 400&+5,0008 2,000
Os7I 2,500&+1,7008 4,250
oMIIR3a 800,000 122 9,600
Oolr=ER= 40,000& =128 480
OAHOoIETVElZ 15,0002« 10122 180
202 044l 18,000 18,000
01 =LA LI 18,000 18,000
ootI(O1=&24l) 100,000& x15F * 122 18,000
203 gR=8| 10,200 10,200
01 D22 HHRFa| 6,600 6,600
O©J1E (1713840 8t) 6,600,000 6,600
02 SR IRHH 2= 600 600 0
OJIEH(ZZ100ENAXI) 40,0002 15H 600
04 PAE2EERFAH 3,000 3,000 0
OJIEA(F&1521015t) 250,000 128 3,000
204 XMRs=HHH| 1,800 1,800
01 MM SR 1,800 1,800
OJIEU (5371 22)
150,000& x 1+ 12& 1,800




